20174 95 2017548 15H(L) 67409 ~ 8EF00%> (1I¥RH20%) HIKBETZ7YB - BBAE

TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
eld CFitiBE 0 0 0 0 0 0 0 0 4 1
il Z3—)LR 1 0 3 1 0 1 X 6 8 0

[ WPET® | AAEE  2EE |

| #271 [ - | | | | | | | |
[ MVvPEEF) | mhEfEx EEEI
[ BABE | A28k SBIK | w7 | Fz@k 1S | #m—nF | - | | | |
BF KERK 1-1 FAIiE 2K 3-8
BFERF EE BEBF 1-1
#BIX: Xa—1LX
T8 281 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 2| A | 8|k |0 & K| 71X
1 =8 A— |[=3m — 2 368
2 B &2 ER B2 1 1 211
3 ELB & F —Dn 2 1 .250
4 AREE |[Z£2 () k& (1) 2 2 2 421
5 w‘BE X |=30 =ir 2 1 167
6 B8 hEAER 7R =-n 2 .286
7 1HA KE =R £33 2 1 .067
8 KERK PSS Py 2 .250
9 EES gt 1 2 .250
10 A B BR [ 11 11 364
11 A =% Bk =7 201 143
12 Heh fEth F2 (2 =R 2 1 2 1 .083
13 B &KX s gmpn| UEE=T 1 1 333
14 4K BE #oo h2 (1) 2 1 1 .200
15 JIIm 23k Fz IR 2 .250
TOTAL| 27 8 5] 2] 3] 3 249
£ . CFibimE
fIIE | RFE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 aiT& —n PUBk %o KERK ()
2 =% |=onm =iR gk 2 7 1 |1 | 000
3 aiT#E —n =R ®ano RT3 2K (S)
4 BiTE oo =ik 5 120 3 |8 2 | 069
5 aiTE —n =
o wnE = = I A
7 aiTE =ik T
8 BTE =iR it L]
9 aiTE =ik =ik
10 1% =ik s L L T [ [ ]
11 EiTE Estqmpn —on
12 EE iz = [ T T T T T ]
TOTAL
7 214 |9 2 | 188




